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1.  Write the domain and range of each function.
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	x
	f(x)
	g(x)

	-2
	1
	0

	-1
	4
	3

	0
	3
	4

	1
	2
	-1

	2
	3
	-2

	3
	-1
	1


2. Use the table of values for f and g to evaluate each expression.  

    If the result is undefined, explain why.
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(a) Evaluate 
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(b) Evaluate 
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(c) Sketch the graph of 
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 on graph paper.
4.  Rewrite 
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 as a piecewise-defined function.

5.  Given the point (3, 5) and the line 
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(a) Write an equation for the line that passes through the point and is parallel to the given line.

(b) Write an equation for the line that passes through the point and is perpendicular to the given line.

6.  Find the point(s) of intersection of the graphs of  
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 and 
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 algebraically. 
7.  Sketch the graphs of each of the following functions without using a graphing calculator.
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8.  Evaluate each expression Without A Calculator.  Leave answers in simplest radical form.
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9.  Solve each equation in the domain 
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10.  Simplify
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(b)
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11.  Sketch the graph of the function.
(a) 
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12.   Each table shows solution points for one of the following equations.
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(iii) 
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Match each equation with the correct table and find c.  Explain your reasoning.

	x
	-4
	-1
	0
	1
	4

	y
	10
	5
	0
	5
	10


 (a)





(b)


	x
	-4
	-1
	0
	1
	4

	y
	-32
	-2
	0
	-2
	-32


	x
	-4
	-1
	0
	1
	4

	y
	-8
	-32
	error
	32
	8


 (c) 




        
(d)


	x
	-4
	-1
	0
	1
	4

	y
	-12
	-3
	0
	3
	12
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8.  (a)  
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10.  Simplify
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